
Questions? 800-233-4655
agricover.com 

Use these instructions to install fabric filler onto an end cap. Read and follow these 
instructions along with the standard instructions carefully before installing or using tarp 
system.

NOTICE TO INSTALLER: Even if familiar with product, read instructions prior to 
installation as improvements may be made without notice. Always handle components 
with care. If you have questions or problems, call customer service. When done, these 
instructions must be given to the consumer.

NOTICE TO CONSUMER: Before using this product, read special instructions. Save 
these instructions for future reference.

FABRIC FILLER INSTALLATION



2

PREPARATION
COMPONENTS

•	 (10) Drive rivets
•	 Weather seal
•	 Fabric filler with hardware
•	 Rope channel bracket
•	 Tarp straps (optional)
•	 Bolt-on D-rings with hardware (optional)

TOOLS NEEDED

•	 Ladder
•	 Drill with 7/32” and 5/16” bit
•	 9/16” socket and wrench
•	 Hammer
•	 Cutting tool
•	 Alcohol
•	 Protective eyewear

!  CAUTION: Do not stand or walk on end cap or fabric filler.

STAINLESS STEEL HARDWARE ONLY
!  CAUTION: To avoid galling of stainless steel hardware, use anti-galling 

spray, grease or lubricant on threads and avoid high speed when fastening. 
Do not use impact tools for stainless steel hardware.

A. Turn 3/8” x 1” non-stainless steel self-threading bolt in 5/16” hole to cut threads, 
then turn back out. 

B. Turn 3/8” x 1” stainless steel bolt in for attachment. When possible, use 
stainless steel nuts and washers with these bolts.

1: APPLY SEAL AND ROPE CHANNEL BRACKET
NOTE: For best adhesion, ensure air and 
surface temperatures are above 60° F.

A. Clean bottom lip of end cap with 
alcohol, then test fit weather seal and trim 
if needed.

B. Peel protective backing and adhere 
weather seal to cleaned area.

NOTE: Trim rope channel bracket flush 
with end cap if needed.

C. Align rope channel bracket with opening 
facing up to bottom lip of end cap, then drill 
(10) 7/32” holes evenly spaced through 
rope channel bracket and end cap. Insert 
rivets, then ensure rivets are fully seated 
and set with hammer.

Weather  
seal

Drive rivet

Rope channel bracket

End cap



2 3

2: ATTACH TO BOX
A. Slide fabric filler rope into rope channel 
bracket on end cap.

B. Align end cap and fabric filler square with 
end of box, allowing fabric filler sides to hang 
over edges.

C. Press down end cap to compress weather 
seal.

Rope in rope  Rope in rope  
channel bracketchannel bracket

Side viewSide view

D. While pressing down, drill 5/16” hole next 
to wind deflector into top of box on each side 
of end cap and fasten with 3/8” x 1” self-
threading bolt. Fabric filler squared  Fabric filler squared  

with end of boxwith end of box

3/8” x 1” Self-threading bolt3/8” x 1” Self-threading bolt

E. Use standard instructions to mount end 
cap brackets. Mount endMount end

cap bracketcap bracket



Product subject to change without notice. 030221   60848_B

3: TARP STRAPS
Perform one of the following to attach and secure tarp straps: 

NOTE: For stainless steel hardware, see page 2 for bolting procedures.

SECURE USING BOLT-ON D-RINGS (OPTIONAL)
A. Attach tarp straps to D-rings on fabric 
filler.

B. Mark suitable locations on box and drill 
5/16” hole at each location, then install 
bolt-on D-rings and secure with 3/8” x 1” 
self-threading bolts.

NOTE: Ensure tarp strap will be tight when 
attached to bolt-on D-ring before drilling.

NOTE: If installing bolt-on D-rings to thin 
walled box, use flat washer, lock washer 
and lock nut.

C. Pull tarp straps tight and attach to bolt-
on D-rings.

Tarp strap

3/8” x 1” Self-threading bolt
Bolt-on D-ring

SECURE USING BOX LOCATIONS (WITHOUT BOLT-ON D-RINGS)
A. Attach tarp straps to D-rings on fabric 
filler.

B. Pull tarp straps tight and attach to 
suitable locations on box. 

Tarp straps attached to end of box

D-rings


